.     Risk    .
	This winter…
	Been  Sick
	Not Sick

	Have Breakfast
	
	

	None
	
	


1) What is the risk of getting sick?

2) What is the risk of a person having breakfast getting sick?

3) What is the risk of a person missing breakfast getting sick?


RISK = the chance of an event occurring for individuals in a group
Eg: The risk of being hit by a bus is 0.1% for pedestrians in Nelson.

Risk is usually associated with something detrimental (cancer, death, food poisoning). There is also economic risk, business risk etc as well as health risk

Risk can be a ratio. eg The risk of being struck by a bus is 1 in a 5000

      So the risk is 1 / 5000 = 0.00002  or   0.002%

.     Risk and Absolute Risk    .
Factors which influence risk can cause the risk to increase or decrease.

	
	Heart Disease
	None
	Total

	Overweight
	21
	85
	106

	Not Overweight
	24
	240
	264

	Total
	45
	325
	370


Example: 

A sample of some Males 

over 50 years old in NZ

Absolute risk (ignores the risk factor)

Absolute Risk of Heart Disease  = 45 / 370 = 0.122 (3dp)

Risk of Heart Disease in an overweight male = 21 / 106 = 0.198 (3dp)

Risk of Heart Disease in a non-overweight male = 24 / 264 = 0.091 (3dp)

Conclusion / Discussion?  What do you notice?

How can we compare risk factors?

NOTE: Risk and Absolute Risk will always be between 0 & 1 as they’re probabilities

.     Relative Risk    .
This is used to compare the risk for two groups.

It gives a measure of the impact of the behaviour or treatment a group is exposed to.

The non-exposed group is the baseline group which we measure the impact of the behaviour or treatment against.


Relative Risk does not 

have to be between 0 and 1

Relative Risk of Heart Disease in an overweight male compared with a non-overweight male      (21 / 106) / (24 / 264) = 0.198 / 0.091 = 2.179 (= 2.2) 

 Conclusion?          Context-Context-Context!!

Based on this study overweight men are 2.2 times more likely to suffer from heart diease than non-overweight men.

.     Example    .
	
	Car Accident
	None
	Total

	Drinking
	5
	10
	

	None
	25
	5400
	

	Total
	
	
	


A sample of some drivers 

1) What is the Absolute risk of having a car accident?

2)  What is the Risk of a car accident in drunk drivers?

3)  What is the Risk of a car accident in sober drivers?

4) What is the relative risk of a car accident in drunk drivers compared to sober drivers?

5) Interpret these results?
















































































































































Risk for exposed group


Risk for non-exposed group
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